Mt 7

T
~

Dl s
//‘/ Lf/ﬁ/a.t‘ CSa//ﬁaa)é,e?
25 1 I 6 R B = N

+his 1§ cxzlled The
X poer]
9

7 —> 7 IS the base 9 is e &v/oonenT

52)__, 3 (s the base 2 is the ex/pone,n"(‘

This Reads "3 ro the powee of Y’ ;
7%1'\3’ ? fir //7 70 The froeiew, 80/ 9 i
this | Keads "3 70 The Fouer. g 2 &



BT a7 is @ /’ou)@% 2

@ — O 7o “the power & 4

MO / k_r‘n !017'—:’9/(@3“( J
(—-) o f@o{ tures > & mvlfdp(teal b mwg

4, Y ECime
[% ths 15 called nulrfa:/feci'vm
& = 3 Bix 1O % 3 = Ol
This i3 The “"’T’J ol 18 e this o aaled
PoweL. = Stantrep Forr
—_—

—&-

MO O T AT AT AN A A

- Power, RoveaTed, Multipheatron Fokm STANDARTS
/ﬁ 2 e,oeaf /9 swpn

923 = X 2J e 2, | =1 &
Fovser. Ke /M,.;z./ /'/ulr;'d;aﬂm sra%% '
S o i < e i, | e
Lo 7’//5@5 Are  Speeinl. Caces:

< - «/< /g/K'“/

EQ@T»—'—& . BQS@/ S |77
, LB 7%@ é)(/wnenf =1k 1

So //Z ‘ﬂ\e,ee sn'T & weillen esﬁtoa/\erv’} 7"4:'8

N

means the exponen” iS4
6 = @, (8 one Gme) 108 =168

(169 one Time)



—

2 5fEcsl -

UNIQUE

2

D

=
.@,495 e 5?1)4250”
- THIS IS BEARVSE 1T

LEPLESENTS A SRARE

A 1TSS AREN ¢
o)) S9v. .
/,_~\e<;

323 29-—-'7'

(aren)

5

THepe aee 25 SQuakes
ngroe *Mus Azeac 25

#e i Pe%/%% 60 EXporent =2

lscl (T =

').)4'2("’2 - “‘l
3v3 = 3%=9

‘7%\67 an 6o '?epée.@nﬁ/

byj Hhe Aeea of « S&om' |

NavliEs
e,

>

- Bars "B cpaep”
o 7HiS means 17 can de

3 s LY - 3533
| Vs ") 23
% |
Yheee ake 27-5?““

J/K‘/J& %@ 0(/

3
5'1‘5 = '2/5

Enikz

Theze are. 125 S?utaeer
V7¢'% rc%/

Z—am
' @parz:vﬂ’.-gS

e pounT e Wf o”n
aach_ s/l



~ m
TH/KD —> C{V‘;G/mz/a BAsE”)

W&_sz%

ﬁa Wu/ o7 ‘7‘7//6///
_3

« Becase Tre — 5 NOT- INSIDE Tf?z PBRACKET,

17| Does /\}m" BeloN&G 1O THE Bwse
. Fhir is, the Base is D and NOT -3
. This /}/50 means Yt the, I

PR s ALORYS NESSTVE [/
g 1 > G 0

(-3>

s Me = iS inside e d . - ;né.wk, breacker
b des |S | -

He bracket. So...
® the hast 1S

(-3)

( -3)(-53(—3)(- 3 [ [ L

e |
~ ovee : ""'(5%3):3)43)* B (.3)<‘3)<'3){"ﬁ
+ Bl — 81 Fre~ -8




INTE R

SEconD —> /\éééflfé, B“‘§E$
71& éz.f@ s e Wl/e/ ONL CIHEN) THE; /\/EG»U"\I@—

5)@0 1S INSILE THE

("3) amm i S ("3) /g‘)()'!'
L;As Qﬁ.pzm NULTwPUcATIOk\ = (- 3? ("33 +7

AS STANDACD
Foren

)
,(“5)‘=° the BASE 15 (-5)
s AS eepedled Multiphcat?on = ( -5)(-5)(—5‘)(—7)[-5)

SHANDARD = = D05
WW\
NECAT Ve %Ass
SEJ/ (wo"” out 2 4 e ¢ 10 1z
séﬁs\ o T, v, B
aup | E XRprerT EVEN EXPONENT
\M

R eTC ol /‘LMM/S '/! 1 erc
Always Resobt IN | ,4Lw4x§ Resolt in)
e i s P D B = N T
~ A/Wfﬁ ‘ FosiTive /vam
(-.2) Dy« (B (- ;) = ()0 (2) - [

(- %= ) 0l = (= 102]) (<372 (-3)(-3) = (39)



S feess  [x7 ]
2 Wfess| | ]
(— 3> ™ fess (w2 = 49
e
2" ﬁ?eas =] — 772455 = - Nowd usTuﬁﬁxTe/

(7@ wind Cobes ?
e i

75» -.P'@ess [47

a (-~
q T+e nurv’éee

(1P = e g - -

. Peess [*Z
/;4553" I

—'/ = PB&SSI_

-—.

Now e a
/pﬁféfg/()s'n/n
rorT ym/r'



for) o //’/D‘q’ | Edd@e’s Using

6 + - Press [¢]
L /’egssl @
- ﬁezss" [Z}]

(_6>? . [REsS @
o [Rrss er_ (this makes it ne‘jdy‘t»@)
> flese ] = - 29K 430
. Peess (7]

- 219 936

_ b Cakolire 67 Like We DID

i
TN Then Keraemloere

0 Wt Yhe =
= ;),?6})0136 |




